e JMC S SEFIES

[1JMCS100

JMCS100
JSC200
Solenoid aWe dvnted

JMCS100
JSC300,JSCE300
Solenoid ale dvnted

JMCS100
JSC400,JSCE400
Solenoid aWe dunted




JMC S100 Multi Connector System:d: X 24;
JSC200, 300, 400 Series Solenoid Valve MountedJSC200, 300, 400 £ #1) L filf [ ¢ 2%

JISP

JSC200 Series Mounted

Terminal Box i . 2n-U5x0.8 2n-U5:0.8
JMCS100 -T14-D4 JSC200 A% (Ro-perd s
1335 136.0.
111.5(3—Position) 111.5(3—Position)
Wire Color | Pin | Solenoidtlo 3.0 94.0 3.0 3 95.0(Double) 2 95.0(Double) < P
No. L] [l e e |
Black 01| s-o1 — B R = o o - — - - = =
Brown 02 | $-02 9 < - - = P — =
Red 03 | s$-03 qﬁ i R | 5] alw B ==
2 2 2 =
Orange 04 S-04 2 M3x0.5 E Z ] jE 2 jE Z =
Yellow 05 | 505 58 HE a8 =
Green 06 | 506 2-92.5 Hole I EEE EEE :
Bl 07} s-or * L . — ko qe RN 1e % -
o ez k- I , Eiss
White 10 | s-10 100.0 19.0]_1.75 = ‘fa‘o‘& = T
Pink s 107.0 24.0 EE e | Hote 4L eSTION 80 9 F ST A [aa| e eSTTONGED)
Light Green 12 S:IZ '—750‘ D 12 14 ] 10 12 14 6.0 N 12 14
Black/White / 13 S-13 B 114.5 | 135.5 | 156.5 B 114.5 | 1355 | 156.5 B 114.5 | 1355 | 156.5
Brown/White /| 14 | S-14 N | 1225 | 1435 | teas o 1225 | 155 | 165 7225 [1ss [1ers
Red/White / |15
Orange/White /| 16 o q
Green/White /| 17 o= - " T Solt 9 o s
B\rueee/nm//mele /8 a9 ufi—'—’}%gﬁz@ = s fa8 . o]
Purple/Wnite /| 19 o 3 M G s EEER a
Red/White /| 20 SC31 D5l /T cou ey 4
21 ol
e 1 o/ | |
el i 6-G1/8 . o 6-G1/8 P.R—Port;
Green/Black /| 23 JSC333D-F5-P—** PRIRI-POD (P.RLRZ*PW/() s 1,000 ( ort)
Gray/Black / | 24 .
Feniaee/ T25] oM JSC300 Series Mounted
ISC00 A% st et
153.0 155.0
- | iti 133.5(3—Positi
D-Sub Connector Pin No. . 133.5(3-Position) (3-Position) ) i
—D— ) 123.5(Double) ) 123.5(Double) ) n—M5x0.8
HD-Sublfl A TEF IR 450831-D-108 3 : 2 e
[ Hoo!le e ¢ |
@ Wi oo Soer G e :
l Il
PG2-01-D % ] Eo O gi== =
™~ PG2-02-D [ HE ORI
- = D -
Sol 1 (Blackk — 1@ ) gl 5| TED) g ui reEHEe= e ) =
( ) @ Sol 14 (Brown/White) / N j‘% g MeA s al3 o
Sol 2 (Brown) ® h : F1 : i B = tE
(B} (Red/White) / 1] il 5 T o 5|8
Sol 3 (Red) ® p ) HE RO 2 nee H K
® Orange/White) / 2 mISSZ = NS Al = d
Sol 4 (Orange) @ ) Id , s ul 7|8
O+ (Green/White) / o i o ui @O o
Sol 5 (Yellow) ® . N E 7% Ei i A ol
Sol 6 (Green) o) (Blue/white) '/ st ¢ He 4 ez =eh 4 Ko
® (Purple/White) / R Be [®) = =
Sol 7 (Blue) Q) @ (Red/Black) 7 Terminal Box =% - =% e =
Sol 8 (Purple) ® . JMCS100 ~T14-D4 IS AN - T
2) Orange/Black) / =4 | &[] T T
Sol 9 (Gray) ©) p N ol
Sol 10 (White) ® @ Yellow/Black) / S bl e [200] o0 P | 220 |z00] Noafoes e 11 sty 30 PE I N ) st @0
Sol 11 (Pink) ® @ (Green/Black) / Terminal Box o 610 ] & [ 0 [ 1z [ s ER 5.0 ] & [0 [ 2] ol 66.0 [ s [ 10 [ 12 [ 1
G b 020 5 | 1360 | 1680 | 2000 | 2320 5 | 1390 | 1710 | 2030 | 2350 5| 1360 | 1680 | 2000 | 2520
Sol 12 (Light Green) ©® % CoM + Manifold Block 70
) & [ 1490 1810 | 2130 | 2s50 » o290 [ 1840 | 2160 | 2480 A | 1490 [ 1810 | 2130 | 2450
Sol 13 (Black/White) / @ (24-Gray/Black) / Fixed Bolt [
(25-Pink/Black) / M "
\/ D-SUB% @
ity f e L2 : @) E / “ o o] =0
| o 2 EER st
Single D-SUB : i ‘ = sz “ I “l_f— =
: 7 = | =G
@ ‘ Connector Cable ° g I “E & s B I w 1 & s
*Voltage Selection x: JMCS100-SC-10 / 0| . cou s 8s cou
61.0 - ' /
6-G1/4 4-G1/8 ‘
(P,m,wz—vo{t) 120.5 1,000 o Rg,sw/{;/ s 1000 (PR-Fort) 1,000
Terminal Box Plug Connector With Clip Single D-Sub Connector Cable IP40 #.D-SUBfi A i - H145 TP40 )
v Yokl 170 JSC400 Series Mounted et se
S JrdF R 3 PR ! A
i - et 1SC400 FF1 2% Weon e Fony
15.0 35.0 - 1500 ( ) 1615
151.0(3—Position) 151.0(3-Position) ‘ woi/s
#| Female~ 9 3 1380(Double) E 128.00muble) 2 (A—Por)
. e/ e =
e ISNZANY i
[ i L
= ) X
2 %ﬁ 8 :ﬁﬁé%‘ 8 7 1; D:Dﬁ
DS : WISNZAST/CY ?
L=(Cable Length) | q MWt =l EHED) R H-6%
_ Ordering C ode iT st Ordering Code ir g/ 5] *NC NO-4740 g MISSUSZe HE o] g5 =
Ordering Code iJ Jly{t %5 PG2-01-D(100mm) JMCS100-SC-10(1m) HE [[OWNP3 > ] e MASNSZANYS = HE i
JMCS100-T14-++ PG2-02-D(200mm) JMCS100-SC-30(3m) HE RO > BE 550 HE £
pd et SNV pt g L1 il ol
Ll Q of LS L
3 B g TaYes 4 s
2 B 1 2
4 [MASSZAS 2/ & s ) | il il
ORDERING CODE i It 2O = z%‘%w & o
He @Yars £
) POOE] = D
LSRG = { B ; )
=STATION (fir $0) n=STATION (i #0) n=STATION (£ #
J MCS1 0 0 - I 1 4 - D4 p § ‘2_0.0‘ f-04.3 r}tw ~7 ¢ 5 T “ ; 30.0 7_‘ono‘ 4—w4.3;L\e D = R “ § [4-04.5 ;In-)\e ~TT s = T
o B 160.0 | 198.0 | 236.0 | 274.0 - B 163.0 | 201.0 | 239.0 | 277.0 390 B 160.0 | 198.0 | 236.0 | 274.0
20 102.0 1 A 173.0 | 211.0 | 249.0 | 187.0 — s A 176.0 | 214.0 | 252.0 | 290.0 25 790 1 A 173.0 | 211.0 | 249.0 | 187.0
Series Function D-Sub Connector Multipole Wireway Box Voltage 9 Sl wr
R4 ik D-Sub 4 N3 T i i3 [ b & =0 % N : Sa2
o] 2] —, - 4]
JMCS1: 0 | Single Module 0 | 25PinDsub T14 | 14 Station 11 0 None g El HE @ s @
: oo
i C tor 25 com
Mult annector onnector D4 DC 24V 67@‘/4/ . s 19.0 217? l)zo.u v ;:SL,/S
Solenoid Valve Mounted D2 DC 12v (P.R1,R2—Port) 1245 1,000 (P\R1,R2—Port) - 1305 1000 : 1.000

&) 065 066 @)



JMC S100 Multi Connector System:d: X 24;
JSCE 300, 400 Series Solenoid Valve MountedJSCE 300, 400 Z:#1| Hifif & 22

Terminal Box iz
JMCS100 -T14-D4

Wire Color Pin |SolenoidNo. 3.0 94.0 3.0
No. [l ]
Black 01 S-01 = 5 R j—] o o
Brown 02 S-02 9 ¢
Red 03 | s-03 7]ﬁ T N
Orange 04 | S-04
2-M3x0.5
Yellow 05| s-05 a
Green 06 | 5-06 2-92.5 Hole _
Blue 07 | 507 L — o
Purple 08 | 5-08 ] ,ﬁé,ﬁg B £ b
Gray 09 | s-09 EA R En —1
White 0] s-10 100.0 19,0 175
Pink 14 S 107.0 24.0
Light Green 12| s-12
114.5
Black/White  / 13 S-13
Brown/White /| 14 | S-14
Red/White / 15
Orange/White / | 16
Green/White /| 17
Blue/White /| 18
Purple/White  / 19
Red/White / 20
Orange/Black /| 21 JSCE311D-F5-P-L—**
Yellow/Black /| 22 JSCEB321D-F5-P-L—+
Green/Black /| 23 JSCEB333D—-F5-P—**
Gray/Black /|24
RS L — 1 com
Pink/Black /|25

D-Sub Connector Pin No.
FD-Subffit Ay 1 BT IS

Plug Connector

@ With Clip
PG2-01-D
(T~ PG2-02-D
20‘ ; (Slack) 778 (@) Sol 14 (Brown/White) /
SZ" 3 ER;%V)V”) 50 (Red/White) /
Sol 4 (Orange) o) ® (Orange/White) 7
Sol 5 (Yell g) ) @ (Green/White) 7
Sol : (Ge ow) o) ® (Blue/White) /7 et
sow 7 (B\ree)n o) © (Purple/White) / i;mgﬁ .
SO' 8 (P ue‘ ) ®2 (Red/Black) / Jr\?lrc”g?glo Tiaoa
S0l 9 (Gf;‘jf 59 (Orange/Black) /
Sol 10 (White) ©@ (Yellow/Black) -/ ESiiiareid i)
Sol 11 (Pink) @) ? Green/Black) / Termhja\ Box
Sol 12 (Light Green) @% ggl\g /Black) / +F_P>/<I:Q|fE<;CI:Ith\ock
f 0 —Gray/Blac| i
Sol 13 (Black/White) / f)/ (25 Pik/Black) 1 - o
ity ™. i
N3y m%iu% 5 ©)
@ Single D-SUB A B
Connector Cable @ -
*%:Voltage Selection *x: IMCS100-SC~10
Terminal Box Plug Connector With Clip Single D-Sub Connector Cable IP40 H.D-SUB%i A\ uify 1~ HL 45 P40
(23 i e Sk 17.0
‘15,0 35.0
f Female
Tract 14
o o H
=S
| <+ ::
1325
b
i Ordering Code iTli3{t UNC NO.4—dp |- L=(Coble Length) |
Ordering Code 11 i3 ft % PG2-01-D(100mm) Ordering Code JMCS100-SC-10(1m)
JMCS100-T14-% PG2-02-D(200mm) AR JMCS100-SC-30(3m)

ORDERING CODE il Jyft %

JMCS1 0 0 - T14 - D4

Function D-Sub Connector
i D-Sub 4 A difi 1 3 B

JMCS1 . 0 Single Module 0 | 25PinD-Sub T14 ‘ 14 Station 1417, 0 None
) Connector 25 D4 DC 24V

Multipole Wireway Box Voltage
i L

Multi Connector D2 DC 12V
Solenoid Valve Mounted

&P 067

JSCE300 Series Mounted

JSCE300 Z 41|75

2n—G1/8
(A.B—Port)
158.0(3—Position)
0] 148.0(Double)
g
} T
A1 el [T e
S| [T %
B | lel 5
S £
MBes: =
¢! E
ﬁ aitlg =
3| 5| & =
NS il % =
2 mi7e
HE LESIS S
H EC S
[ T 9
1 miZe =
E Ted =
: ‘ =
g [&
=
S =,
‘ =
o =
) BIES
E e
‘ 4-04.5 Hol
o
|
o
p=i
E
El
J ‘ 435
6-G1 /4 5,000 ‘

(P.R1.R2—Port)

JSCE400 Series Mounted

JSCE400 Z 51|23

n=STATION (540

10 12 14

168.0 | 200.0 | 232.0

181.0 | 213.0 | 245.0

2n—G1/4
(AB-Port)
175.0(3—Position)
3 163.0(Double)
1 \
i & b4
S PTI8
g 1! T
BT =
- =
[Tt
=
9|3 RESS i
ik nE ==
é uéﬁ fﬁﬁ 7:%3
i S
E 8
i : —
4 Hes 8 [
I =
s Q [T
i TR
3 ik e Pty
2
2 lt—94.3 Hole
3
3.0
6—51/4/ ‘
(P.R1,R2—Port) 5,000
STATION G20
o [ 2

198.0 | 236.0 | 274.0

211.0 | 2490 [ 187.0

JISP

2n-61/8
(AB~Port)

169.0

158.0(3—Position)

148.0(Double)

6.5

H

&

il

S

S

T

i
N

[16.0n+11.0]

A=[16.0n+24.0]

B:

16.0

P

Ipn) Upad (b Unad Upnl Upad pn (paR Unn)

1‘%,5

200 \aLos5 Hole

6.5

67.5

[19.0n+24.0]
[18.0n+11.0]

A=
B:

19.0

P.

6.5

82,0

127.5 5,000
n=STATION (i )
mre] 8 10 12 14
5 | 1990 1710 | 2050 | 2350
A 1520 | 1840 | 7160 2080
2n-G1/4
(AB—Port)
174.0
175.0(3—Position)
163.0(Double)
¢/l
[T
Vel 1 PTI
S =
T8
9z e
Y Pt
96 =
o
e
KA Ve
it TR
I3 ‘
o
Eolo e =
%S =
NI W [Pl
B0 b Tk
ISSZASY/S MRS
AN
30.0 ‘zoo‘ 4-94.3 Hole
120.0

=05

Qo

com

130.5 5,000
n=STATION (40

8 8 0 [ 12 14
B [ 163.0 | 201.0 | 230.0 | 277.0
A [176.0 | 2140 2520 | 2000

6.5

n-M5x0.8
(A-Port)

.0n+8.0]

=[16.0n+21.0]

A

16.0

P

[0 ) b Unnd Upnd Upad Upnd Ui Upnd Uy

6.5
185

49.5
41.0

6.5

[19.0n+8.0]

[19.0n+21.0]

A
B:

19.0

P

6.5
200

[4-94.5 Hole

HSTATION ()
Q
== 8 12 | 14
8 | 1360 2000 | 232.0
A | 1400 213.0 | 245.0
n—G1/8
(A-Port)

Sol1
4;,’,: so2
@ so1e

com

985 5,000
n-STATION (40

ma— 10 12 | 14

B [ 1600 [198.0 | 236.0 | 274.0

A [ 1730 [211.0 [249.0 [ 1870

068 @)



i JSC.JSCE SEFiEs

[1JSC200
[1JSC300
[1JSC400

[1JSCE300
[1JSCE400
[1JSCE500




JSCZOO M5  series

Solenoid / Pneumatic Valvestiti/< 5 I®

05/2, 5/3-M5, 3/2-M3 [O10mm Body Width (AR{K 3 E)

JSC211D-FC5-P-L—x=*
2 4

315

*% Voltage Selection #x:

OManifold or Sub-Base Type (KREER %)

JSC271D-F-P-L—**
2

ZIHAN

13

il

JSCP261D-F
2

4
BN Lk
315 ©

OHigh Efficiency, Space Economy Type (it F, TH &y == 8] BY)

JSC200-FC5

S=) SC200-B
= 5-Port ®4 One-Touch Fitting
5 o4

B JSC200-F5
5Port M5 Bottom Port Plate e
5 M5 (=

JSC200-FC3
3-Port ®4 One-Touch Fitting
3 o4 N

., JSC200-F3
i£] 3Port M5 Bottom Port Plate
3 M5

Blanking Plate

The specification on each item can be amended without any prenotice to improve a performance.

The specification on each item can be different from actual specification.

SPECIFICATION #if%

JISP

SERIES SOLENOID, PNEUMATIC
ITEM it H FUNCTION 5, 3Port 2Position 5, 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 2.0~17.0 2.5~7.0
Eff. Sectional Area(mm?)-5bar 23 1.8
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 25ms

35ms or Less 35ms

Max. Working Frequency 5c/sec5 / 3c/sec3 /
Lubrication Not Required (Use ISO VG32#) ( 1 SO VG332 )
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10% of Rated Voltage

Power Consumption(DC)

DC:0.65W(24V:27.0mA/12V:54.0mA)

Transition Capacity Graph i i |4

5/2,3/2

~=5/3 1.t

Qn( !/ min)
@
o

1 2 3 4 5 6 7
Pressure [/ (bar)

The Material of Parts #1445

m Valve Body : Die-Cast Aluminium
® Spool : Aluminium

m Seals : NBR

® Spring : Stainless

B Cap : Zinc Pressure Die-Cast

m Pilot Parts : Glass Filled Nylon
® Armature : Stainless Steel

® Armature Seals : Viton

NBR

Viton

ORDERING CODE I /4t 5

JsC2 1 1 D

F5 - P - L

) % 51 ) fig

| |
|
Return Method Port Type
PRV FAREEN

Solenoid Coil Type
2 M Y 3X

Voltage
i

JSC2:

| |
| |
Port Plate 3 Thread Manual Operator
1 B SR AL F- 3 i {F
0

Solenoid Valve

JSCP2:

Pneumatic Valve ()i
3/2 Normally Closed

3/2 Normally Open

&P 071

FC5 | 5-Port 28 One-Touch Fiting

FC3 | 3-Port &8 One-Touch Fitting

E External End Plate,Plate M3x0.5

B Blanking End Plate

1 | s/2single M4 0 None £ D ‘ Manifold i # i None None 0 None 0 None
2 | 5/2Double A 1 Air+Spring “+#i 3 B ‘ Sub-Base i F5 | 5-PortM5x0.8 P | Push L 90 Degree Plug-in Wire D4 | DC 24V

- Non-Locking Assembly With LED B
3 | 5/3Closed Center kit 2 | Air F3 | 3-PortM5x0.8 _— 90 D2 | DC 12V
4 | 5/3Exhaust Center il 3 | Spring 7 EN5 | 5-Port NPT M5x0.8 L | LeverLocking 180 Degree Plug-in Wire

Assembly With LED

5 | 5/3Pressure Center 1 i st FN3 | 3-Port NPT M5x0.8 180
6
7]

5Port 2Position Solenoid Valve (Manifold)
524 AR (RO

Single Solenoid #.4;
JSC211D-F5-P—L—**

%ﬁﬂ]@ zt-& GoTe A
8.

315

2-M5x0.8(2,4-Port)
Red

Block

2-M3x0.5 §P4.0(back)
14.7] 9.5
72.0

3-M5x0.8(1,3,5-Port)

JSC2200-F5-P-L-x* ==

2 4

eRNIIVAC

315

5Port 3Position Solenoid Valve (Manifold)
513 LA IR CELHRACY)
Closed Center it
JSC233D-F5-P-M-#*

315
Exhaust Center =
JSC243D-F5-P-M—**

2 4

315
Pressure Center izt
JSC253D-F5-P-M-x+

2 4

315
3Port 2Position Solenoid Valve (Manifold)
324 LRI (RO
Single Solenoid x4k &
JSC2610-F-P-L—#*

2

|
e

2-M3x0.5(1,3—Port)

5Port 2Position Solenoid Valve (Sub-Base)
5124 HLAIR (R )

Single Solenoid £k
JSC2118-B-P-L-*x

340

Double Solenoid M4

External Pilot 4Miisk S
JSC2208-E-P-H-+x
2 4

o BNIIVA:
315 ]

5Port 3Position Solenoid Valve (Sub-Base)
51 3o LI (R )

Closed Center i
JSCZSSBZ*B;P*L*“

315
Exhaust Center it
JSC243B-B-P-L—**

2 4

315
Pressure Center it
JSC2538-B-P-L-x*

5Port 2Position Pneumatic Valve
520 I

Single Pneumatic 3k
JSCP211D-F5

2 4
CANIIVAZE
315

Single Pneumatic i3k
Jscp2118-B

2 4
ANITARS
315
Double Pneumatic %k ‘L‘
JSCP2200-F5

2 4
> II
318

5Port 3Position Pneumatic Valve
534 I

Closed Center izt 555
JSCP2338-B | |
2

4
ST
315 | 64.0 |

Exhaust Center f1jlltst
JSCP243B-B

315
Pressure Center it
JSCP25388

)
SN
315

3Port 2Position Pneumatic Valve

3H2P R

Single Pneumatic 3 . 33705 M3x0.5(2Port)
Jschzewo o Y M5x0.8
SANIINRS A

13

19.0
16.5

|_ss0 |

! 2-M3x0.5(1.3-Port)
EIE
1ds 7.0

@ 2)



JSC200M5 Series JSCBOO I/BSeries

Solenoid / Pneumatic Valvesi i /< %) & Solenoid / Pneumatic Valvest i/ < 50 1K

JSCB20 SINGLE, DOUBLE MANIFOLD BLOCK Manifold Ordering Code 5111t
JSCB20 Ht, Z A7 IR 2he

(JSC200 Solenoid & Pneumatic Valve Use)
JSC200 k. “{BhiH

JSCB2 1 - D - MO4

Function 7 Manifold Station fi%(
Manlfold Block Dimension JSCB2 0 [None £ 0 [ Nonei M02 [ 2-Station i 2 4 375
W R ) jfg%golﬁﬂ%"‘d Valve =7 s Single Station Sub Base M4 | 4-Station {7
~ 1/8 Port Without Pilot Ports = ——————— L
2 | NPT AR S MO06 | 6-Station 11

Manifold,Port 1/8 [l 11/8 -Station {17
Double Modular D i [RL M08 | 8-Station {i:
DB Double Modular Manifold Block, M10 | 10-Station fii

JSCB20-8LK H H i
Blanking Plate T7# g{g;;l;g}lgﬁglﬁfcﬁlémmenswn M5 Port ittt s, M5

Double Modular Manifold Block,
Q P=10.5 14.0 DCé 86 Fitting.
4 BB LS, 06
Base Gasket 31 3 7 16.8 D3 Manifold,M5 Port
ﬁ' Without pilot ports (3/2 way)
5| 4-94.2 Hole - N IEHRMSH T, ANitiSE i H(2/3) JSCgilD-FS—P—L—M
wor GRS (Sl ZANIHA

] N
&

15.5]15.5
52.8

Vi3l 2
f‘ ¢

° o
<@ D . .
P=10.5 i 14, . b PY Single Station Sub Base
m T =11 o vy . -
S £l § Va Dimension(SCB31-S)
v 6-G1/8 L ) Yo - (QCE21-Q
2(;’4“15;5-5 % (1.3.5/—Pm() ESJ (‘.53.5@;:“)1 QJ o PR JE 88 )T (SCE31-S)
' A = B: (1-5 9.5) 285
r g 4.0 =(10.5n+9. 4.0 60.5 JSC371D-F-P-L—**
Hoas %j A=(10.50+17.5) 2 *%:Voltage Selection #*:
o [OXOXS] in (2,4-Port) DOUBLE MODULARDIMENSION '
[ i R n=STATION (fi 50
s \4—54.2 Hole o :n: w2 4 U U 1O . . . N
‘ o A 08 | ers | 72s | 935 | 14s Port Plate Ordering Code (Material:Zinc) ;3T IG5
e 5 | 5 | ses | 05 | 1015 | 1225
o
so || B=005m95) || 40 b @
A=(10.5n+17.5) B - . o
ManlfOId Block Dimension 3 JSC300-F5 JSC300-FC5 JSC300-E
SPORT MANIFOLD BLOCK DIVENSION H"«H:&)\I ‘J' 5Port G1/8 Bottom Port Plate 5-Port ® 6 One-Touch Fitting External Plate
5L UL n=STATION (fir 0 P=10.5 12.5 5 Gl1/ 8
s 2 4 6 8 10 Q 2342:%/3
A | 305 | 515 | 725 | 935 | 1145 I
5 | s | 595 | s0s | 1015 | 1225 . JSCR00-FC3
JSCB26-BLK yameRs e 4-uSx0.8 Ordering Code i {L % Ordering Code iT 1{t 3 2 4 3ot 11 Bottom Port Plate 3.Port ® 6 One-Touch Fiting
e o MoNBX0.8_ el H— g 3-Port) JSCB26-BLK JSCB26-BLK Blanking Plate P ST 3o
3PORT MANIFOLD BLOCK DIMENSION 9 (2=Port) 1§ iy Blanking Plate (Material : STS304) 315
S n=STATION (50 S el et G E{ a @ <Mater:sz §T3s?)03t STS304 315 The specification on each item can be amended without any prenotice to improve a performance.
i 2 4 5 8 10 = e ‘¢-} Manifold Gasket The specification on each item can be different from actual specification.
A | 285 | 495 | 705 | 915 | 1125 Manifold Gasket = Base Gasket
5 = 35 B=(10.5n+7.5) 35 (Material : NBR) <SS (Material:NBR)
355 | s65 | 775 | 985 | 195 Manifold Gaske! (105t 145) NBR N NBR
Transition Capacity Graph i & i1 2 % The Material of Parts #4441 )i
1200 . L
[T T 1] ® Valve Body : Die-Cast Aluminium u
= 1000 — m Spool : Aluminium b
£ 800 5/2,3/2
1S e-53 —— m Seals : NBR u NBR
= 600 1t m Spring : Stainless u
c - - . . .
& 400 =T u Cgp . Zinc Pressure P|e-Cast u
200 =1 m Pilot Parts : Glass Filled Nylon L]
| .
0 m Armature : Stainless Steel u
1 2 3 4 5 6 7 8 m Armature Seals : Viton ] Viton
Pressure k73 (bar)

ORDERING CODE i/ /4t 5

JsC3 1 1 D - - L - D4

Manual Operator Solenoid Coil Type Voltage
F 3 F E1EEEN e

\
!—1 !—1 \—\ \
Valve Series Function Return Method Port Type
& 751 ) e 524175 X #EAER

Jsc3 1 | 5/2Single ML H# 0 None D ‘ Manifold fi f& it 0 None 0 None 0 None 0 None
- . 2 | 5/2Double W% 1 Air+Spring “+#% B ‘ Sub-Base i F5 | 5-PortG1/8 P | Push L 90 Degree Plug-in Wire D4 | DC24V
Solenoid Valve i i - Non-Locking Assembly with LED e By
3 | 5/3 Closed Center 14 i{ 2 Air # F3 | 3-PortG1/8 90 D2 | DC12v
4 | 5/3Exhaust Center d1iltst 3 Spring # i FN5| 5-Port NPT1/8 L LeverLocking M 180 Degree Plug-in Wire
JSCP3: Assembly with LED
5 | 5/3 Pressure Center ' [ FN3 | 3-PortNPT1/8 —_— 180
Pneumatic Valve (2} 4 N T —
6 | 3/2Normally Closed FC5 | 5-Port 6 One-Touch Fitting
7| 3/2Normally Open FC3| 3-Port €6 One-Touch Fitting
E External End Plate,Plate M5xX0.8

&P 075 @ 2)



J SC300. 1 /8 Series s

Solenoid / Pneumatic Valvest /< 2 & ‘G‘ e JIS-P

05/2, 5/3-1/8,3/2-M5 [O15mm Body Width (15mm ZA{K3EE) OManifold or Sub-Base Type (JEEE%R %) [High Efficiency, Space Economy Type (fit fl, 5 4= [ )

SPECIFICATION Jif JSCB30 SINGLE, DOUBLE MANIFOLD BLOCK Manifold Ordering Code iziT it

SOLENOID, PNEUMATIC 0 S Sk
SERIES JSCB30 H, 24 IR 222
T 5, 3Port 2Position 2 P Position . . JSCB3 1 - D - Mo4
ITEM %A FUNCTION 5. 23 S Port 3 Position 5 3 (JSC300 Solenoid & Pneumatic Valve Use)
Fluids Compressed Air JSC300 il T y—‘ y—‘ \—\ \—\
Pressure(bar) 1.5~7.0 2.0~7.0 Manifold Block Dimension = = = .
ﬁﬂmﬁj’ ]ISSC%E(?S enoid Val 0 | None & 0 None % MO02 | 2-Station fi;
. %l N olenoid Valve n n N ,
Eff. Sectional Area(mm?)-5bar 9.0 7.5 1SC300 gl 116 s 13;29;0 rfts\;;?hnoiugnglasséns MO4 | 4-Station f;
_ _ 5 N 2 [ NPT MR, AT MO6 | 6-Station
Ambient & Fluid Temp. 5-60°C(41~140°F) PR Double Modular D | Manifold, Port 1/4 4114 M08 -Siation
. N N . nking Plate JSCB30-BLK Manifold Block Dimension DB | Double Modular Manifold Block,  M10 | 10-Station fif
Response Time(5bar) 25ms or Less 25msuli/b - 35ms or Less 35msul /> T Slenkino Pt Blenking Plate 3 X ariian MT0 | 10-Station .
% EZ20R RS AL 118 Port HHEUL LA, #1118
Max. Working Frequency 8c/sec 8K/ 5c/sec 5IRIFL &.) @ P=16.0 20.0 DC6 P%”}ﬂ? Modular Manifold Block,
2= 56 Fitting
. . . Manifold Gasket Base Gasket LA, 06
Lubrication Not Required (Use I1ISO VG32#) ( I SO VG332 ) 56/ | D3 | Manifold, Port 1/8 (372Way)
T Ak Wi, S018(2/3)
- : e .
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( ) [ ﬂ/
P=16.0 18.5 i 4-$4.5 Hole
Coil Insulation Class F-Class or Equivalent F n EN @{ : 4 - -
. L sallis 2 D s Single Station Sub Base
Permissible Voltage Variation +10% of Rated Voltage ! Ej(ﬁi ol s Dimension(JSCB31-S)
4—94.5 Hole R B o D = R 5 . S
Power Consumption(DC) DC:0.65W(24V:27.0mA/12V:54.0mA) Pl T ‘ 5 A% S ST (JSCE31-S)
$%’ é é T4 o 33.?;&
8 3| 65.5
& _’/ ?{"@ S B=[16.0n+11.0] 8.5
€ ® A=[16.0n+24.0]
EE A
5Port 2Position Solenoid Valve (Manifold) 5Port 2Position Solenoid Valve (Sub-Base) 5Port 2Position Pneumatic Valve aikn e sy e DOUBLE MODULAR DIMENSION _ oxr )
51247 HL I I (BLHERLAS) 5112457 HL A I (R L) 520053 K = ; ] 2 [ ¢+ [ 6 [ 8w
Single Solenoid .4k Single Solenoid .4 Single Pneumatic #.3 6.5 8=(16.0n+8.0) 6.5 )3 520 | 184 oA —
JSCRT1D-F5-P-L-xx s /KRR JSCB11B-0-P-L-sx JSCP311D-F5 b A=(16.0n+21.0) D999 e el e e = i, ¢
2 4 2 4 . A 2 4 P=16.0 ___‘ 26.0 | o 9| o s B ol o
CANIIAS M T Ay CAVIIAR: : 719 A B
2-93.2 Hole. . . . [
315 315 (Manifold Hole) 315 Manifold Block Dimension IS8
Bt g?\o\?ﬂiﬂwmm BLOCKDIMEE?T*UG\(’L% BRI R T ! e
Button =l 2 4 5 8 10 F1el 185 s5c1/4220 ;15—%
| A | 400 | 720 | 1040 1350 | 1680 Al F (1,2,3,4,5-Port) )
bl A 8 | 530 | es0 | 17.0 | 1as0 | 1810 R, -
3’ 22.0 35535 2-M3x0..5 [DP5.0(back) Single Pneumatic #3% . --‘.',-i‘= \é‘SCVB:SSPT?LK n(,z,iﬁpxgg ﬁ} + ﬁj\ s oe5 hote v L g E‘w,géin)
) JSCP3118 janking Plate y
2 4 o B Bs B, of [ dori e
) o] FHAHT poTMOROK = Rk s | [
318 mre 2 4 6 8 10 o Gasto :{, | Blanking Plate (Material - STS304)
- Rl Double Preumatic 45k s w200 [ 720 Troro | s00 | tee0 Manifold Gasket 65 || a:(wsmm,o) 6.5 9 @ (Malenz\T: STSSOZ) @ aer:T STSand
4 ) X ‘ 5 | 530 | 850 | 117.0 | 1490 | 1810 A=(16.00+21.0) STS30 <3 Manifold Gasket
Double Solenoid Double Solenoid JSCP320D-F5 < Maniold skt B fols Gas
FB-pl—xx = : Sk 2 4 (Material : NBR) oy Base Gaske
JSCZC*ZQD F5-P-L External Pilot 4M#%S | bMQ R < (Material:NBR)
JSCB20B-E-P-M-#* v N
315
- ) ] @E@ 5Port 3Position Pneumatic Valve
5Port 3Position Solenoid Valve (Manifold) - 53BN
51137 “ » .
Clos{\eicijcl gzl&éﬁ%ﬁa i 5Port 3Position Solenoid Valve (Sub-Base) ?SlggseagBCemer
5 I3 H ) (RLPRIC ) 24 705

ssessa Fe Closed Center SN /P | N

T AT/ B JSC3338-0-P-L-*+ 315 ==i==ﬁ|===
375 - . m T L Exhaust Center _ il ‘

Exhaust Center " Jscradsg

JSC343D-F5-P-M-x
2 4

315
Exhaust Center

ENA
JSC343B-0-P-L—** 315
2 4

315 Pressure Center
Pressure Center JscPassg

315
JSCBSSD;FE*P*M*“ Pressure Center W@HEM
315

JSC3538-0-P-L-**

T T T

315 é@ﬂﬁﬂ% 3Port 2Position Pneumatic Valve
3Port 2Position Solenoid Valve (Manifold) 518 3H2A o (2-Per)
SHI2ALHLRIR (HBERCE) Single Pneumatic X4k

JSCP361D

2 =
CANIRS S
1 3

2-M5x0.8 (1,3~Port)
_ 3,; 11.0

M5x0.8

Single Solenoid #.4:
JSC361D-F-P-L-#x
2 =

M5x0.8(2—Port)

&P 075 076 @&



Solenoid / Pneumatic Valvest i/ <z

JSC4OO . 1/4 Series “'@Z‘%-l

05/2, 5/3-1/4,3/2-1/8 [O18mm Body Width (18mm Ak E) OManifold or Sub-Base Type JEEER%) [OHigh Efficiency, Space Economy Type (it B, 5 £ % (8 &)
SPECIFICATION #t#%

JISP

SERIES SOLENOID, PNEUMATIC
ITEM Hi H FUNCTION 5, 3Port 2Position 5 , 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~7.0 2.0~7.0
1S6A11B-EL-Ls» Eff. Sectional Area(mm?)-5bar 16.0 12.0
.‘-‘I’A{: Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 25ms

35ms or Less 35ms

Max. Working Frequency 5c/sec 5 / 3c/sec 3/
Lubrication Not Required (Use ISO VG32+#) ( | SO VG32 )
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10%

of Rated Voltage

Power Consumption(DC)

DC:0.65W(24V:27.0mA/12V:54.0mA)

5Port 2Position Solenoid Valve (Manifold)
51240 LRI (ELHEILE)

Single Solenoid 4R .0 40 2~ G1/4(2,4~Port)
JSCA11D-F5-P—L-+x ] Red
2 4 o |
= ANIIWA: e 4
255 |19.0 2-64.2 Hole Black
315 (Manifold Hole)
JSC400-F5 JSC400-FC5 JSC400-E L ":“j‘ b s =
P. 5Port G1/4 Bottom Port Plate 5-Port ® 8 One-Touch Fitting External Plate ol T T
G1/ 4 5 o8 o of L <
N PP B
N I I
i ] 283 Lﬁ“ \-2-M4x0.7 DA5.0(back)
— —P = —0)—P-M— 92.5
45C4200-F5-P—Hi-x ISC4118-0-P-H-x Teca00.63 Arorcs 25
3Port G1/4 Bottom Port Plate 3-Port ® 8 One-Touch Fitting
3 G1/ 4 »8 o
315 315

The specification on each item can be amended without any prenotice to improve a performance.

e N N . e . zsw/s(s,s—?m)
The specification on each item can be different from actual specification.

G1/4(1=Port)
*%:Voltage Selection »x:

Double Solenoid £ e
JSC4200-F5-P-L-r 2 T

: |
2 4
e 5
o € =S
i AVIIA:y _

315 ‘ 115.0
Transition Capacity Graph i il 2[5 The Material of Parts /44 )5 : —
N . 5Port 3Position Solenoid Valve (Manifold)
2000 T T m Valve Efody : .Dlle-Cast Aluminium u 513 LR (PR
T 1600 2o m Spool : Aluminium u Closed Center "t
1S ’ |+ m Seals : NBR ] NBR JSCA33D=F-P-M-s+
Z 1200 == 5/3 — . ) 24
= 00 L +—T | _l--F-1 m Spring : Stainless ] N
< =17 - 70 iao 315
9 400 g 0 S - C?p : Zinc Pressure Ple Cast " Exhaust Center fiiftst d = j E
— m Pilot Parts : Glass Filled Nylon u JSCA4EDFE-P-N-++ ‘ v+ ‘
0 . i !
1 > 3 2 5 5 7 8 : ﬁrma:ure S.Stlaml.e\ji Steel : - I ‘ 1220 |
Pressure JEJ) (bar) rmature seais - viton viton Pressure Center ik
JSC453D-F5-P-M-x*

3Port‘ ;;’;;ition Splg[loid Valve (Manifold)
Singl Solanold .
J SC4 1 1 D = F5 = P - L = D4 JSCA10-FP-L2+

13

ORDERING CODE 1] {5

350

’—1 ’_1 \_‘ \ | | \ \
I I I I I
Valve Series Function Return Method Port Type Port Plate <3 Thread Manual Operator Solenoid Coil Type Voltage
CE] ) e LUV ES HOER He LR BB A TR A R A 1
0 0 0

None D ‘ Manifold Fi# A 0 None

1SC4: 1 [ si2single 524 0 Nane None None
h 2 | 5/2Double W 1 Air+Spring i+t % B ‘ Sub-Base R F5 |5-PortG1/4 P Push L 90 Degree Plug-in Wire D4 | DC 24V
Solenoid Valve i - Non-Locking Assembly with LED —
3 | 5/3Closed Center it 2 | Air “ F3 | 3-PortG1/4 90 D2 | DC 12V
4 5/3 Exhaust Center it L 3 Spring ## FN5 | 5-Port NPT1/4 L LeverLocking M 180 Degree Plug-in Wire
JSCP4: Assembly with LED
5 | 5/3 Pressure Center '/l il FN3 | 3-Port NPT1/4 _ 180
Pneumatic Valve () S B —
6 | 3/2 Normally Closed FC5 | 5-Port &8 One-Touch Fitting
7 3/2 Normally Open FC3 | 3-Port &8 One-Touch Fitting
E External End Plate,Plate M5x0.8

&P 077

5Port 2Position Solenoid Valve (Sub-Base)
51124 HL R I (R L)
Single Solenoid #:£k[#

JSC411B8-0-P-L—»x
2 4

W
Double Solenoid

External Pilot 4t %
JSCA20B~E-P-pi-1+

315 g

‘ 115.0 ‘
132.0

5Port 3Position Solenoid Valve (Sub-Base)

5 1130 FL R I (RGP

Closed Center Hiffit,
JSCA3E8-0-P-L-+r

)

5Port 2Position Pneumatic Valve

5127 BN
HED@RM)

Single Pneumatic #.3
CANIIPARE =
315 | m

JSCP411D-F5

2 4
Single Pneumatic #.3k 79.0
JSCP411B

IIT
o 3 000G

Double Pneumatic Ak
JSCP420D-F5

2 4
LahVIIVAS:
315

5Port 3Position Pneumatic Valve
537 BN

Closed Center =

JSCP4338,

2 4
,4>V, E Z k{}, ] 82.0
315

;
Exhaust Center it Eﬁ
JSCP4438 ‘

2 4
N T( N ;T M - 98.0

43.0

315
Exhaust Center
il
JSCA43B-0-P-L-*x

2 4

3156
Pressure Center
kR

s

31
Pressure %emer RS
JSCP4538

2 4
315

63.0

127.0

150.0

3Port 2Position Pneumatic Valve

JSC453B-0-P-L—**
2 4

315

M0 53R
Single Pneumatic #.3k
JSCP461D

2
NI
13

G1/8(2-Port)
M5x0.8

284

(078 @)



JSC4OO 1/4 Series

Solenoid / Pneumatic Valvesti i/ <.z i@

05/2, 5/3-1/4,3/2-1/8 [O18nm Body Width (18mm ZA{K3EE) OManifold or Sub-Base Type (JKEE%R%E) [High Efficiency, Space Economy Type (it i, 5 4% @ &)

JSCB40 SINGLE, DOUBLE MANIFOLD BLOCK
JSCBA0 HL, ZAv IR ‘%%

(JSC400 Solenoid & Pneumatic Valve Use)
JsCa00 i BhimA

Manifold Block Dimension JSCB3 ) None 0 None MO02 | 2-Station 17
W S Double Modular i e s S [Sinale Stallon Sub Base, o4 | -Stton i
Manifold Block Dimension 2 | NPT Wl A o MO6 |6-Station 1

EZ0n i &y A

JSCB40-BLK

< SN
Base Gasket
M5x0.8

2n-G1/4

6-G1/4

Manifold Ordering Code imii il 4t =

JSCB4 1 - D - Mo4

—— 9

0

o

Manifold, Port 1/4 [ifi:11/4 MO8 | 8-Station £

1/4 Port it schelt, #1114

pc8 | Double Modular Manifold Block,
&8 Fitting.

6-C1/4 LIPS SR, 06

(135-Pprt) 3 [Manifold, Port 1/8 (3/2Way)

BB, $:111/8(2/3)

DB |Double Modular Manifold Block, ~M10 | 10-Station fii.

o7 Single Station Sub Base
: Dimension(JSCB41-S)

AR JS) (JSCB41-S)

4-04.3 Hole| (03 5Part)

(z.4—%ng

P

B=[19.0n+11.0]

65

A=[19.0n+24.0]

20.0 ‘
104.0
s

2n—G1/4 P=19.014.3

(1,3-Port)

9%

9L

6.5
DOUBLE MODULAR SUB BASE DIMENSION
TN
Q
e 4 3 s 10
A 49.0 87.0 125.0 163.0 201.0 4—94.3 Hole- 2-M4x0.7
8 | 620 | 1000 | 1380 | 1760 | 2140
o & B
EE ) o
2 fa

B=(19.0n+8.0
65 (19.0n+8.0) 8.5 100

287

A=(19.0n+21.0)

SPORT MANIFOLD BLOCK DIMENSION
ot =

S STATIONG i) L
o] 2 4 6 8 10
ITEN
460 | 84.0 | 1220 | 1600 | 198.0 n-g1/4
A (2-Port) )

B | 590 | 970 [ 1350 | 1730 | 211.0

ia

3PORT MANIFOLD BLOCK DIMENSION
30 nSTATIONGf 80

2 4 6 8 10

a 19 19 |9

ITEN

D JSCB46-BLK PL IR /
P Blanking Plate {}%} Q) ’ﬁ} P g

Manifold Block Dimension i#i)<+]

P=19.0_20.0

2-94.3 Hole
/- 9

61.0
69.0
NVA
21.0

o
5-G1/4_/10.9 _tod_
(1,2,3,4,5-Port) 25.0

A | 460 | 840 | 1220 | 160.0 | 1980

A=(19.0n+8.0)

6.5

B | 590 | 970 | 1350 | 1730 | 2110 Manifold Gasket 22

8=(19.0n+21.0)

P
“ Ordering Code Ordering Code
JSCB46-BLK JSCB30-BLKg 5 ning Plate
Blanking Plate (Material : STS304)
@ (Material : STS304) STS304
STS304 Manifold Gasket

Manifold Gasket.

&P 075

Base Gasket
(Material : NBR) ‘—&@—“‘ (Material:NBR)
NBR NBR

JSCEBOO 1/8 Series

Solenoid / Pneumatic Valvesti i/ <51

JSCEP311D-F5
2 4

JSC300-F5 JSCUO-FC5 JSC300-E

5Port G1/8 Bottom Port Plate 5-Port &6 One-Touch Fitting External Plate
5 G1/8 5 06
2 4 S
&=
2 4 -
315 5
JSC300-F3 JSC300-FC3
3Port G1/8 Bottom Port Plate 3-Port 26 One-Touch Fitting
3 Gil8 6

The specification on each item can be amended without any prenotice to improve a performance.

*%:Voltage Selection #x: The specification on each item can be different from actual specification.

Transition Capacity Graph i i 2 £ The Material of Parts i+ )i

1200

1000 ® Valve Body : Die-Cast Aluminium L]
— [ L
< 800 —1 ® Spool : Aluminium u
E | T T m Seals : NBR u NBR
= 600 =L m Spring : Stainless u
§ 400 =TT 5/2,3/2 m Cap : Zinc Pressure Die-Cast u

200 ——= LI o m Pilot Parts : Glass Filled Nylon ]

0 . 5 3 7 5 5 > Ls ‘ EL ‘ ‘10 m Armature : Stainless Steel L]
® Armature Seals :Viton L] Viton
Pressure JEJ) (bar)

ORDERING CODE i] {5

JSCE3 1 1 SC1 - CN1 - D4

‘ H \ \ \ \_‘
| | |

Val ries Function Return Method Port Type Port Plate &3 Thread [l Manual Operator Solenoid Coil Type Connector Type Voltage

1 % 51 ) fie P EN NN e DR R T2l E1CN HHEIE R [l

: 0 0 0 ne

D -F5 - P -

JSCE3 1 5/2 Single A& 18 0 | None D ‘ Manifold 4% None None None 0 |None 0 Nol
) 2 | 5/2Double W& 1 | Air+Spring“i+i#% B ‘ Sub-Base it i i F5 | 5-PortG1/8 P | PushNon-Locking g1 | 3 Pin Connector Coil DIN (CN1 | Normal Connector A2 | AC 220V
Solenoid Valve t: i 1
! Ve 3 | 5/3Closed Center tfi4st, 2 | Air F3 |[3-PortG1/8 TW SG1 | Grommet [Flying Leads CD1| Comnector With LED A1 | AV 110V
4 5/3 Exhaust Center 'ilt s\ 3 | Spring # % FN5 | 5-Port NPT1/8 SD1 Grommet [Flying Leads C2Z1 | Comnector With LED A4 | AC 24V
JSCEPS: With LED & Surge Suppressor —
5 | 5/3 Pressure Center i st FN3 | 3-Port NPT1/8 D4 | DC 24V
Vel iE —p— e
Pneumatic Valve “(#) 6 | 372 Nommally Closed FC5 | 5-Port ®6 One-Touch Fitting SL1 | %0Degree Plugin * : See Page 97 ** 97 D2 |DC12v
J Wire Assembly With LED il Bl
7 | 312 Normally Open Fc3 | 3-Port @6 One-Touch Fitting 90
— _— 180 Degree Plug-
E |External EndPlate, SM1 | e Aty tihLED
Plate M5X0.8 180
- *% 1 See Page 95 xx 95




JSCEBOO 1/8 Series

Solenoid / Pneumatic Valvesti it/ <z &

05/2, 5/3-1/8,3/2-M5 [O15mm Body Width (15mm A{K% E) OManifold or Sub-Base Type (EEEZRZE) OHigh Efficiency, Expense Reduction Type (fiff, A= @ 8Y)

SPECIFICATION #if%

SERIES SOLENOID, PNEUMATIC
ITEM it H FUNCTION 5, 3Port 2Position 5 | 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mm?)-5bar 9.5 7.5
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25msorLess 2 5 ms

35ms or Less 35 ms

Max. Working Frequency 8c/lsec 8 / 5¢/sec 5 |/
Lubrication Not Required (Use ISO VG32#) ( 1 SO VG332 )
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10% of Rated Voltage

Power Consumption

AC:3.5VA(60Hz)/DC2.5W

5Port 2Position Solenoid Valve (Manifold)
5 FI2A FL I CELHRIC )
Single Solenoid 4k

2-G1/8(2,4-Port)
JSCE311D-F5-P-SD1—*x
2 4 =
A Lk sz ue
315 (Manifold Hole)
2
LK

Double Solenoid
JSCEB20D-F5-P-Sh1—+x

315

5Port 3Position Solenoid Valve (Manifold)
5 I3 FL I (LA
Closed Center iz
JSCEBB327§5*P*SU*~*

315
Exhaust Center Timﬁgﬁ‘ﬂ n P, n

5Port 2Position Solenoid Valve (Sub-Base)
5 F1 247 HLTEE I (R e LA
Single Solenoid #4f 108360

JSCEB311B-0-P-SC1-CN1-**
2 4

m 2-93.2 Hole

315 (Manifald Hole)

X)‘(’fﬂﬁ quW‘UO 156.0 ma‘x] .0
Double Solenoid ‘ |
=11

External Pilot st =
JSCEB20B-E-P-SC1-CN1—*x
2 4

I A -
ANV |
315

5Port 3Position Solenoid Valve (Sub-Base)
513 LRI (R

Closed Center it

JSCE333B8-0-P-SC1-CN1—+x

JSCE343D-F5-P-SL1-#*
2 4

315
Pressure Center ik
JSCER53D-F5-P-SL1—++

315

3Port 2Position Solenoid Valve (Manifold)
3124 FEL IR (PR
Single Solenoid #£:[E | 17—‘0-1 M5x0.8(2—Port)
Jsc ~F-P-SM1—xx :
2k3361D F-P-SM1 <] Q%
AN RImF
[14.5] .

2-M5x0.8(1,3—Port)
11.0

&P 051

2 4
g \ T 1 { QE mo‘xﬂ‘l() 166.0 ma‘ﬂ‘.o

315

Exhaust Center it =
JSCE3438-0-P-SC1-CNI—+x

H [T 1 A
315 =]
Pressure Center it DD
JSOEISIB-0-P-SC1-CNI-t 158.0
4
315

5Port 2Position Pneumatic Valve
SH2f B

Single Pneumatic #i3
JSCEP311D-F5

Single Pneumatic #.3
JSCEP3118B

Double Pneumatic 3k
JSCEP3200-F5

2 4
Iz
315

5Port 3Position Pneumatic Valve

CIREITA I

Closed Center tiff= 705

JSCEP33 | ’ \

PRI i
L 80 |

Exhaust Center it
JSCEP3438
2 4

315
Pressure Center ik
JSCEP3538

2 4

3Port 2Position Pneumatic Valve
3H2R B

Single Pneumatic #3k 36.5
JSCEP361D

1 17.0 M5x0.B (2—Port)
) ] M5x0.8
SANIINSS #msﬁ
13

2-M5x0.8 (1,3-Port)
Hee
_pad 1o

JSCB30 SINGLE, DOUBLE MANIFOLD BLOCK
JSCB30 HL, A IR 2 2%

(JSCE300 Solenoid & Pneumatic Valve Use)
JSC300 HiRE. BNIRA

Manifold Block Dimension

BTN

Double Modular

Manifold Block Dimension

JIS~

Manifold Ordering Code [i&#7 i1/t 5

JSCB3 1 - D - Mo4

—— —

\—\

Manifold Station i

0

1/4 Port Without Pilot Ports
2 | NPT 1/4

JSCB3 None 0 None MO02 | 2-Station fi
RE Saenidele TG S | Single Station Sub Base. M04 [4-Station f;

MO6 | 6-Station fi.

D Manifold. Port 1/4 [{#i:#:11/4

MO8 |8-Station fif

DB | Double Modular Manifold Block,

M10 | 10-Station {ii

N, o .,
! eZia  SRlae 2L 118 Port B icki, #1118
JSCB30-BLK JSCB30-BLK =16.0_20.0 DC6 | Double Modular Manifold Block,
Blanking Plate Blanking Plate &6 Fitting
o HEES E% LRI, 06
5 il D3 | Manifold, Port 1/8 (3/2Way)
= = H L iR, BO18(213)
Manifold Gasket Base Gasket D] ‘ 200
Il 13.0] 6-G1/4
_P=16.0 185 M5x0.8 L /444'5 Hal : (11315/,%,0
T 9 1 VZ: . -
i E:DH ) o' @e[ b —f Slngle Station Sub Base
2 o INE || ©\34  Dimension(JSCB41-S)
| o1 i 3 R R < (JSCBAL-S)
- 3 R~ -
@ 1o, SOV B (© o < IR J
2-G1/8. -4—94.5 Hols 1.3.5-Port; u ~|
(2.4—Por/«)&+ ole . [ iz&/( ort) T N N
i 15153 B 3 [__F
6 ; 7 JJU“LH‘
MOk '
|\J‘>‘ of o 6.0
DO | o3
0
2N 0:‘,[95;9 1 iSninn) DOUBLE MODULAR SUB BASE DIMENSION
! L] 6.5 B=[16.0n+11.0] 6.5 HESTATIONG8
‘ A=[16.0n+24.0] = Y 2 4 6 8
1 200 mecs petsoten b | 430 | 750 | 1070 | 1390 | 1710
*J @APe\ ] A | 560 | 860 [ 1200 | 1520 | 1840
—
.99 93
Ooimm o16.0.18.5 Lo ,r,{\ |
65 8=(16.0n+80) 6s =16.0 1. =
A=(16.0n+21.0) m m m @ @ @ A
P=16.0 26.0 R =
g o _ MBUS e
SPORT HANFOLD BLOCKDINENSION Manifold Block Dimension
PNEE R s | 10 4-G1/8 W
B | 400 | 720 | 1000 | 136.0 | 1680 M50 2o (1.3-Port) Ordering Code 7 3¢ Ordering Code i ¢ 5
A |30 | ss0 | 117.0 [ 1400 [ 1810 (2-Port) 1 | JSCB36-BLK JSCB36-BLK
b b ! o o BSS}?‘LK Blanking Plate :avblaa::ir:‘aglplg‘ressozt)
fanking Plate
$PORTMANFOLDBLOCKDMENSION 4] $‘( e}c e‘( 5| 3 o < (Ma“‘"g'f :25300:’ STS304
]2 [« [s [o [ :{ o I  Manifold Gasket ’.é’ =o> Manifold Gasket
5.5 B=(16.0n16.0) 5.5 i ] = < ‘anifold Gaske Base Gasket
o |00 | 720 |0w0 | 300 | se0 (Sl o 22 et S (Material <NER) <= (Material N6R)
A | 530 | 850 | 117.0 | 149.0 | 181.0 NBR NBR

082 @)



JSCE4OO 1/4 Series

Solenoid / Pneumatic Valvesh /< 5 &

JISP

05/2, 5/3-1/4,3/2-1/8 [O18mm Body Width (18mm A{KFEE) OManifold or Sub—Base Type (JEEE%RZE) [High Efficiency, Expense Reduction Type (fiffl, 12 g 8Y)
SPECIFICATION Hif%

SERIES SOLENOID, PNEUMATIC
ITEM 3t H FUNCTION 5, 3Port 2Position 5 , 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mm?)-5bar 16.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 25 ms 35ms or Less 35 ms
Max. Working Frequency 5c/sec 5/ 3c/sec 3/
Lubrication Not Required (Use I1SO VG32#) ( I SO VG332 )
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( )
Coil Insulation Class F-Class or Equivalent F
Permissible Voltage Variation +10% of Rated Voltage
Power Consumption AC:3.5VA(60Hz)/DC2.5W
JSCEAGWD*F*P*SLI***
2
JSCEP411D-F5 PN
2 4 13
315
AL 5Port 2Position Solenoid Valve (Manifold) 5Port 2Position Solenoid Valve (Sub-Base) 5Port 2Position Pneumatic Valve
&F Port Plate Ordering Code (Material:Zinc) 1 1§11/t 5 5120 H ] (LB A) 517123 F il ) R S SII2BE AR
S @i’. Sinale Sol id g __140_ 420 _ por Single Solenoid #.2: 4 : Single Pneumatic #.3%
.;‘L%'f $’ < Js‘ggg‘;ﬁ 0_256_2?3‘@?}*{@ e 01 JSCE411B-0-P-SC1-CN1-*x e JSCEP411D-F5
= = 2 4 4 2 4 o — 1
A B0 g ssamos CANIIA T e S VLIRS -
% G1/ 4 ) . 315 (Manifold Hole) 315 (Mnnf}o\d?«me) 315
JSCE411B-B-P-SD1-*+ p %?‘ ] ‘Jﬂ:uz?_h i s U:DMD : B -
JSCEA433D-F5-P-SM1-#* 2 4 e../ N ‘ ‘ o Single Pneumatic #3% bl ‘
2 4 MM JSC400-F3 5C400-FC3 NETH R A JSCEP411B 79.0
5 315 SPorGt?‘\/IAABcttom Port Plate 3-P$ré®8 One-Touch Fitting % \25\3 w‘g si _ . 9 2 4 g
——‘- Hoal |\ 2-ua07 op .0(back) ; o H £ b M{F E:‘H%‘
The specification on each item can be amended without any prenotice to improve a performance. b 315
Voltage Selection xx : The specification on each item can be different from actual specification. § — 116.2 3 5
P e )
Double Solenoid 154.0 Double Pneumatic 33k ‘ 59.0 ‘
JSCE420D~F5-P-SM1-+x =g WLk mq‘ﬂ‘oﬂ 1705 mqmu_ir JSCEPA20D-FS | oy, |
. . . . N 2 4 T ! Double Solenoid o~ “ T !
Transition Capacity Graph il lli2; The Material of Parts 4 5 SN 3 } } il i 2 External PilotAd: ; *>£@E<} i } } - ﬂ
. . 315 il L\—‘ JSCE4208-E-P-SC1-CN1-#+
2000 m Valve Body : Die-Cast Aluminium u 163.0 2 & d b
= 1600 — —] ® Spool : Aluminium ] mﬂ% . .
E 1200 — | | |.J m Seals : NBR u NBR 5Port 3Position Solenoid Valve (Manifold) SPort 3Position Pneumatic Valve
Z 800 el MBS Sl o i ® Spring : Stainless . BB GLI LI (HHERCES) zzsﬁncz;mm
— b /2,32 L f 3t » . osed Center
S 400 e | ® Cap : Zinc Pressure Die-Cast u JCS'(?;‘@SD,C;;?FE?;L?’,%\ 5Port 3Position Solenoid Valve (Sub-Base) Jscerassg | —=m0
0 | — m Pilot Parts : Qlass Filled Nylon L] 24 511337 HL A I R RETiAS) 9@
1 2 3 4 5 6 7 8 9 10 m Armature : Stainless Steel u ﬂﬂ;@% 157.0 Closed Center Hifzt 55
. ® Armature Seals : Viton L] Vit i JSCE4338-0-P-SC1-CN1-+x Exhaust Center
Pressure JkJ) (bar) ron Eg&izj%{%?g}g[iﬁﬁ “rqumﬁ = mox10.0 1825 mgxip o JSCEPMS? 4 o
A% - : I T
315 AE ¢ i Exhaust Center il 315
> Vs Pressure Center izt 175.0 JSCE4438-0-P-SC1-CN1-*+ Pressure Center
ORDERING CODE ] /8% JSCE453Y-F5-P-SL1 -+ - o JSCEP4538
s Pressure Center #ijfist 1 v 315 N

J SC E4 1 1 D = F 5 = P = SC 1 = C N 1 = D4 JS%QCE;T?O‘;T S;é EZNM 3Port 2Position Pneumatic Valve

3Port 2Position Solenoid Valve (Manifold)

e
31120 R (B HERLEE) STe 3L BN
[ [ [ ) o [ Single Pneumatic #:3 [ o ees”
\—\ \—‘ Single Solenoid # -
Val F C Return Method P t Port Pl ‘ M | i Solenoid Coil T © tor T v JScHasTD-FRmsM e e ® )
alve Series unction eturn Metho ort Type ort Plate <3 Thread anual Operator olenoid Coil Type onnector Type oltage 2 d 25,
i e AR Fah e S R i AN AN e
13

JSCE4: 1 | 5/2Single Y 0 | None % D ‘ Manifold i 0 None 0 | None 0 None 0 |None 0 | None &
S 2 | 5/2Double W% 1 | Air+Spring “(+#% B ‘ Sub-Base &AL F5 | 5-PortG1/4 P | Push SC1 | 3Pin Connector Coil DIN CN1 | Normal Connector A2 | AC 220V
Solenoid Valve Non-Locking
H R R 3 | 5/3Closed Center 1kt 2 | Air ¢ F3 | 3-PortG1/4 — 1 SG1 | Grommet [Flying Leads CD1 | Comnector With LED A1 | AV 110V
——————————— L | Lever Locking
4 | 5/3Exhaust Center thilist 3 | Spring #i % FNS5| 5-Port NPT1/4 Grommet Flying Leads Cornnector With LED A4 | AC24V
JSCEP4: 2 9 #R SD1| yintep ez & Surge Suppressor —
Pneumatic Valve 5 | 5/3 Pressure Center i /i 5t ﬂw D4 | DC 24V
S 5-Port ©8 One-Touch Fitting 90 Degree Plug-in X
3 6 | 3/2 Normally Closed FC5 - SL1 Wire Assembly With LED *% : See Page 97 ## 97 D2 |DC12v
7 | 3/2 Normally Open Fc 3| 3-Port ©8 One-Touch Fitting 90
- R 180 Degree Plugiin
E | External End Plate, SMT 1 e Ascamy With LED
Plate M5X0.8 180
_— #% : See Page 95 xx 95

&P 055 @R 2)



JSCE4OO 1/4 Series JSCESOO 3/8 Series
|
Solenoid / Pneumatic Valvestfit/ < 2 i/ Solenoid / Pneumatic Valvesti i/ < 21 Is l:

Manifold Ordering Code

JSCB40 SINGLE, DOUBLE MANIFOLD BLOCK
JSCBAO i, 271 %2 JSCB4 1 - D - Mo4

(JSCE400 Solenoid & Pneumatic Valve Use) ’—1 ’—1 \—‘
JSC400 Hif. “{Ehi \—‘

Manifold Block Dimension ISCBA e 0 [Nore 0 [Nonef M02 | 2-Station
B R~ 350400 FE%%O' e s Single Station Sub Base, M04 | 4-Station fir
1/4 Port Without Pilot Ports —_—t
Double Modular 2 |NPT BAIRRAE, %S M06 | 6-Station £
Manifold Block Dimension D Manifold, Port 1/4 [&:f11/4 MO8 | 8-Station fi:
P ST pB | Double Modular Manifold Block,  M10 | 10-Station fir
JSC840-BLK o100 210 1/4 Port ZHMLLAEN, Fr14
Flenkina ot ! DCg | Double Modular Manifold Block,
® — GqFﬂmmg»
DR, 08
= -
Base Gasket D3 | Manifold, Port 1/8 (3/2Way)
200 1R, $:111/8(2/3)
150/ 6-gi1/a
4-8}.5|Hole (1,3,5-Port)
5 5 — o Iy . .
o g E}@ R e/ g A & = Single Station Sub Base
— I ] E N I
% ® é J B 8 Dimension(JSCB41-S)
‘ RCIRR R NE J 8 HBUREER A (SB11-9)
! I - N
2n—G1/4. 155, 6-G1/4 L X“E Q“‘E 9‘ b= o
(2:4=Port) 4.3 Hole |, " R 2
< 17.0,
i 38.0
95.0
E ®
DOUBLE MODULAR SUB BASE DIMENSION —M4x0. . . - o S N
alleonio) 6s o o7 Port Plate Ordering Code (Material:Zinc) 3 [ 14711 45
2n-G1/4 P=19.014.3 = 2 4 2 2 i
(Aol 5 | 490 | 870 | 1250 1630 | 2010
p=19.0 200 @ @* % EE N 197 o JSC500-F5 JSC500-FC5 JSC500-8
@ @ @ Tasy - 5Port G1/4 Bottom Port Plate 5Port ® 10 One-Touch Fitting Blanking plate
AN ZA 22 ] 5 G1/4 5 @10
65 | | 6.5 E o 287 L
A=(19.0n+21.0) - (LN ) 5,01/,;L . _pod_ %/n
. H . 1,2,3,4,5-Port] & =S
sorTUANFOLDBLOCKUENSON Manifold Block Dimension \,a =
Ql ] 5 JSCE5118-F~P-SC2-CN2—+x JSCS00-E
2 [« [s [ 8 [0 . e [e s-c1/8 JSC500-F3 JSC500-FC3
e wee [rare e [0 (b L s o Gstbony Ordering Codo i W1t 5 Ordering Code it 5 m = 11B-E-L-SCP-CiNg—ts SPort G114 Botom ot Plte 3ROt 10 Ono-Touch itng Exlera) Plate
A [ 00 | 970 [1350 | 1730 | 2110 % % Bd & Jscass-aL Blanking Plate Blanking Plate 315 M‘l" 174 ®
o E e anking Plate 9P
& 14| o = Material : STS304, (Material : STS304) 1 Y
SPORTMANIFOLDBLOCK DIMENSION d Td Ta |a " b ‘ Bl N - (M e es0 4) ani ‘dS(;r ska 04 315 : The specification on each item can be amended without any prenotice to improve a performance.
[z [+ [ [s [ = ol Manifold Gasket B et . ! . The specification on each item can be different from actual specification.
= 70 Manifold Gasket == (Material - NBR) *% : Voltage Selection ## :
o [ o0 | sr0 1220 |00 | 1ee0 o parcryn ) s o ial N - (Niaierial NaR)
» | 590 | 970 | 1550 | 1730 | 2110 5=(18.0n+21.0) 720
Transition Capacity Graph i i i1 2 4] The Material of Parts {444 i
4000
3500 m Valve Body : Die-Cast Aluminium L]
— s
3000 — ® Spool : Aluminium u
= 2500 — .o .
< [ —r 4= m Seals : NBR [ ] NBR
£ 2000 L= . .
1500 — -1 ® Spring : Stainless L]
g 1000 I . :@3/2 [ m Cap : Zinc Pressure Die-Cast ]
—T. - | — . .
500 | —1= 1 i i i i m Pilot Parts : Glass Filled Nylon u
0 ® Armature : Stainless Steel u
1 2 3 4 5 6 7 8 9 10 m Armature Seals : Viton . Viton
Pressure J&J) (bar)

ORDERING CODE I 41t 5

JSCES 1 1 B - F - P - SC2 - CN2 - D4
| —
‘ LIk

| | |
‘ \—\ \—\ I I \—\
Valve Series Function Return Method Port Type Port Plate = Thread |l Manual Operator Solenoid Coil Type Connector Type Vo
&) % 51 ) fie S R #OpR e OB T3 1 ELNEN HHIE R
F | G38 0 0 0

JSCES5: 1 |si2single .40 0 | None & D | Manifold s None None 0 [None None
Solenoid Valve it 2 |5/2Double £ 1 | Air+Spring “(+1% B ‘ Sub-Base Ji L FN [ NPT3/8 P | PushNon-Locking  SC2 | 3 Pin Connector Coil DIN CN2 | Normal Connector A2 | AC 220V
3 |5/3Closed Center ifst 2 | Air % FC | 210 One-Touch R re— SG2| Grommet Fiying Leads CD2 | Comnector With LED A1 | AV 110V
ever Locking
JSCEP5: 4 | 5/3Exhaust Center il 3 | Spring st i Fitting SD2 | Grommet /Flying Leads CZz2 | Comnector With LED A4 | AC 24V
N - With LED & Surge Suppressor T
Pneumatic Valve <z 5 | 5/3 Pressure Center f: Jii s B | Blanking End Plate D4 | DC24v
6 | 3/2 Normally Closed g | ExternalEndPlate, D2 | DC 12V
Plate M5X0.8 —_—
7 | 312 Normally Open

&P 055 086 @3



JSCESOO S/BSeries ._@fﬁ“‘

]
Solenoid / Pneumatic Valvestifit /<5 & g JIS P

05/2, 5/3,3/2-3/8 [26mm Body Width (26mn A{KEE) OSub-Base or Manifold Mounting Type (KRS MIRRKLE) OHigh Efficiency, Expense Reduction Type (i, Ty [HE)

SPECIFICATION #it% JSCB50 S|NGLE, DOUBLE MANIFOLD BLOCK Manifold Ordering Code

S L Vi 2
SERIES SOLENOID, PNEUMATIC JSCB50 Hi, 224 [RIMR 22 % Jscas N . -
ITEM % FUNCTION 5, 3Port 2Position 5, 23 5 Port 3 Position 5 3 (JSCE500 Solenoid & Pneumatic Valve Use) | |
SCE500 Hifi. “Bh i
Fluids Compressed Air ! s Function Jhf Manifold Station {1
i A H JSCBS 0 | None 0 None MO2 | 2-Station {if
Pressure(bar) 1.5~10.0 2.0~10.0 !V!anlfqlq Block Dimension JSCES0 ok ahe 1~ s [ Singls Station SubBase, M0 | 4-station 1
0 30.0 LU 3 f JBFCKBSO»;\?LK Double Modular — 2 | NPT %’l? ﬁ?@}g‘?‘ﬁ‘?”?"?&f““ MO6 | 6-Station fi’
. 2\ 40. . ; /anking Plate | . ARS8, AN - 7
Eff. Sectional Area(mm')-5bar SenknePae et Sub Base Dimension D | Manifold. Port 3/8 [i:1113)8 M08 | 8-Station fi
) ) o s iyl :
Ambient & Fluid Temp. 5~60°C(41~140°F) ?éﬂ’fﬁf}jfix%tﬁﬂ D8 | Double Modular Sub Base, 10 | 10-station
N o - : D RAEIBEL, AT
Response Time(5bar) 25ms or Less 25msEl/b T 35ms or Less 35mss/bT ﬂfﬂ [ B ¢ 10| Double Modular Sub Base,
Max. Working Frequency 5¢/sec bIK/F 3c/sec 3U/B | 10 Fiting # yigko 10 4k
= E End Cover,3/8 Port Jiiif, 3/8f:11
Lubrication Not Required (Use ISO VG32#) ( SO VG32 ) was+ (a0 [o-ons e EB_| End Blanking Cover FRH
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( ) P~ W@Jﬁ‘ﬁ= g
Coil Insulation Class F-Class or Equivalent F g CD@’L 3
Permissible Voltage Variation +10% of Rated Voltage % @L@N@f ng\ﬂfjj__@ = e4 3 : DOUBLENODULAR SUB BASEDENSION,
E L = A S T [+ [+ [ [0
Power Consumption AC:5.5VA(60Hz)/DC2.5W T[] S N e
&) I s * |10 | 1450 | 1990 | 2550 | 5070
48.6
i
4.0 B=(27.0n+29.0) Ordering Code iJ i ft
A=(27.0n+37.0) JSCB36-BLK
5Port 2Position Solenoid Valve (Manifold) 5Port 2Position Solenoid Valve (Sub-Base) 5Port 2Position Pneumatic Valve e R @ :E!h\l‘aar:l:rr‘\:lP\;tfsmA)
SR2Areaik R (HEEH) SR (REFERCER) Rl Sty MFOLD BLOCK DIMENSION, 110yt » <= Marifo oot
i v O S i !
) NN i id s _ ole Single Pneumatic #.% |p=27.0|_27.0 | 200 EEE s 8 10 NN 7aNTra (Material :NBR)
Single Solenoid i 418 o S kel mg mo | mer SO ol wgmemetey)  wLELELEIle || QORI == L
SCE511D-B-P-SD2-+ . X 045 Hoe 4 (2750428, " L —
J o ‘3;5 56.0 {Manifold Hole) 2 4 EI :Jﬁ Sl s < ] A=(27.5n+28.5) Aznaas 138.5 | 193.5 | 2485 | 3035 ol A \ A - ] ?Srie;s?gcde TG
EE B m o . . ’ n-G3/ o ) s
nl 4 HE e s e 9 Single Station e 20 ™ e > End Cover.38
Push(Button Override [ Sub Base Dlmensw ] WL ] \ 2 . 0 (Material:Al)
Lever|Locking o\/errme\mrﬁ» ‘@_@ PO JECJRE R~ =<9 [ j g A
j: i ﬂ g -
s | g . _ = fa
Eﬂgr ‘ME 1030 TS e b o C o d o 4 Ordering Code i 1t 1 Ordering Code 1141t 75 Ordering Code i1 11t 15
il \: 3| @ I: b NI g JSCBSUVDO Double Modular JSCB(H-DB JSCB51-EB
ﬁ I: o Sub Base €10 Double Modular End Blanking
[ one-touch fitting Sub Base,3/8 Cover
141.5 == ®10 3/8 (Material:Al)
Single Pneurnatic #% sose T ¢ (Material:Al) (Material:Al)
JSCEP5118-8 g (12.3.45-Port) 2-M4x0.7 DPBO
2 4
IIVARS KX
max10.0 205.0 max10.0 315
N ‘ ‘ ‘ 103.0
o o vseos —
2 Double Solenoid @ - ﬁ
Double Solenoid & :Féq - ) 108.6

External Pilot 4hifist T o | & ) I
JSCE520B-F-P-8G2-++ JSCE520B-E-P-SC2-CN2—++ H}iiikﬂjg Double Pneumatic 3k ‘
2 4

2 4 JSCEP5208-F
2 4

A | wwe | dim | tes TGl %2

108.0
5Port 3Position Solenoid Valve (Manifold) 5Port 3Position Solenoid Valve (Sub-Base) 5Port 3Position Pneumatic Valve
5113 s R R ) 5130 LR (RS E) 53R
Closed Center i Closed Center Closed Center
JSCES338F ~P-SG2=r JSCE5338-8-P-SC2-CN2-+ JSCEP5328-8
o o 7% MR LY S
15 max10.0 218.0 mg‘ 10.0 —%me—w(} ‘

315

315

. !
Eggaggt Cents%rzwt@)k g L Exhaust Center Exhaust Center a
JSCES ?’rj” - i i JSCES438-8-P-5C2-CN2-r JSCEP5428-8
i | ul 0
/ SO | 09
315 ) 315 315 1330

PressurerCenter:P iy T e Pressure Center Pressure Center

JECESEEB- ~P-5G2-x T JSCE5538-B-P-SC2-CN2-+ s JSCEP5528-8

2 4 ! 2 4
s RVIERATYA. AT EanVIGEIVASS
315

315

&P 057 @EEEN(C 2>



MEMO JSN (VAVRESERIEs

C,

4

o 72:? ]g
7

[1JSN3000
[1JSN4000




JSN3000. 1/4 NAMUR Series
Solenoid / Pneumatic Valvestii/ <5 &

05/2, 5/3-1/4 [023mm Body Width (23mm ZAR{KEE)

JSNSSOBEIL‘;SC%CNZ***

315

Ex-Proof Part Bjliift
Metal Connector <)% % 3% 3Port Blanking Part 311yt ff:
(Material: ZnDC) (Material: Al)
M mad ME: mae
CNM2 JSN3000-BLK

The specification on each item can be amended without any prenotice to improve a performance.
The specification on each item can be different from actual specification.

SPECIFICATION #if%

JISP

SERIES SOLENOID, PNEUMATIC
ITEM %t H FUNCTION 5 Port 2Position 5 2 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mm?®)-5bar 18.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

30ms or Less 40ms or Less

Max. Working Frequency 5c/sec 5 / 3c/sec 3 /
Lubrication Not Required (Use ISO VG32#) ( 1 SO VG32 )
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10% of Rated Voltage

Power Consumption

AC:5.5VA(60Hz)/DC2.5W

Transition Capacity Graph i & ik [& The Material of Parts {41 )i

2000 T ® Valve Body : Die-Cast Aluminium .
T 1600 T ot m Spool : Aluminium L]
E 1200 s S SRR m Seals : NBR ] NBR
= 0 _/f—---"‘ -~ m Spring : Stainless L]
G | 1~ - T o m Cap : Zinc Pressure Die-Cast [ ]

400 e T ®m Pilot Parts : Glass Filled Nylon =

0 p 2 3 1 5 A = 5 9 10 = Armature : Stalnles§ Steel ] A
® Armature Seals :Viton L] Viton
Pressure Jk /) (bar)

ORDERING CODE i] {5

JSN3 1 0 1 - I P - SC2 - CN2 - A2
\ \—\ \—\

’_1 ‘ \ \ \ \ \
| | | |
Valve Series Function Port Plate <3 Thread f§ Return Method Int/Ext .Pilot Manual Operator
& 2 5] ) e B ELVES W/ S T3 fF
0

Connector Type Voltage
A 1 s
0

JSN3: 1 | 512 Single 4 & 0 ‘ G1/4 0 | None & | ‘ Internal Pilot None 0 None 0 None None
. 2 | 512 Double X% 1 ‘ NPT 1/4 1 | Air+Spring "+ i P | Push SC2 | 3Pin Connector Coil  CN2 | Normal Connector A2 | AC220V
Solenoid Valve ik Non-Locking DIN -
3 | 5/3 Closed Center tf'f{ 2 | Airi T Tioer oot e - cD2 | Connector With LED A1 | AV 110V
_— _— ever Locking 2 -
4 | 5/3 Exhaust Center 7t 5t 3 | Spring # ik Leads o cz2 | Connector With LED ~ Surge A4 | AC 24V
JSNP3: 5 | 513 Pressure Center #1714 §D2 | Grommet/Flying Suppressor D4 | DC2sv
P tic Valve “i2 i - Leads With LED
neumatic Valve “t3)i CNM2 | Metal Connector D2 | DC12v

CDM2 | Metal Connector With LED

CZM2 | Metal Connector With LED <3
Surge Suppressor

&P 051

Sealing Part Dimension
RS

4.0

W
2N

921.0
10.0

35

Sealing Area
X 0

3-Port Blanking Part 3113k

Metal Connector(Material:ZnDc)

(Material:Al) SIRERET (M B G)
#10.0 Hale #10.0 DP7.0 M5x0.8
o Thread 1/2
ose >f @l 4 —

5 9e = o5
k \ N =
L 24.0 _fo. } i

200 32.0 24,0
52.0
Single Acting Use P
SN3000-BLK ik bl CNM2

SN3000-Plate

@EEEN( 2)



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15

